

لا فسر

بانتقال من تعریف سری و نسبت به تغییر

شکل اول:

$$S = \int d^4x \mathcal{L}(x) \quad \text{تغییر: } \delta S = 0 \rightarrow \frac{\partial \mathcal{L}}{\partial \phi} - \partial_\mu \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi)} = 0$$

$$\mathcal{L} = -\frac{1}{r} \phi \square \phi + \frac{1}{r} m \phi^r - \frac{\lambda}{r_1} \phi^r$$

$$\begin{aligned} \int (\phi \square \phi) d^4x &= \int d^4x \phi (\partial_\mu \partial^\mu) \phi = \int d^4x (\partial_\mu (\phi \partial^\mu \phi) - \partial_\mu \phi \partial^\mu \phi) \\ &= \int d^4x \cancel{\partial_\mu (\phi \partial^\mu \phi)} - \int d^4x (\partial_\mu \phi) (\partial^\mu \phi) \end{aligned}$$

$$\rightarrow \mathcal{L} = +\frac{1}{r} (\partial_\mu \phi) (\partial^\mu \phi) + \frac{1}{r} m \phi^r - \frac{\lambda}{r_1} \phi^r$$

$$\frac{\partial \mathcal{L}}{\partial \phi} = m \phi - \frac{\lambda}{r_1} \phi^r$$

$$\partial_\mu \left(\frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi)} \right) = \partial_\mu (\partial^\mu \phi) = \square \phi$$

$$\rightarrow \boxed{\square \phi = m \phi - \frac{\lambda}{r_1} \phi^r}$$

$$\mathcal{L} = -\frac{1}{r} F^{\mu\nu} F_{\mu\nu} + \frac{1}{r} m^r A_\mu A^\mu - A_\mu J^\mu \quad ; \quad F_{\mu\nu} = \partial_\mu A_\nu - \partial_\nu A_\mu$$

E.M: $\frac{\partial \mathcal{L}}{\partial A_\nu} - \partial_\mu \left(\frac{\partial \mathcal{L}}{\partial (\partial_\mu A_\nu)} \right) = 0$

$$\frac{\partial \mathcal{L}}{\partial A_\nu} = m^r A^\nu - J^\nu$$

$$\begin{aligned} \partial_\mu \left(\frac{\partial \mathcal{L}}{\partial (\partial_\mu A_\nu)} \right) &= -\frac{1}{r} \partial_\mu \left(\frac{\partial}{\partial (\partial_\mu A_\nu)} (F^{\alpha\beta} F_{\alpha\beta}) \right) = -\frac{1}{r} \partial_\mu \left(F^{\alpha\beta} \frac{\partial F_{\alpha\beta}}{\partial (\partial_\mu A_\nu)} \right) \\ &= -\frac{1}{r} \partial_\mu \left(F^{\alpha\beta} (\delta_\alpha^\mu \delta_\beta^\nu - \delta_\beta^\mu \delta_\alpha^\nu) \right) = -\frac{1}{r} \partial_\mu (F^{\mu\nu} - F^{\nu\mu}) \\ &= -\partial_\mu F^{\mu\nu} \end{aligned}$$

$$\rightarrow \boxed{\partial_\mu F^{\mu\nu} + m^r A^\nu - J^\nu = 0} \quad \xrightarrow{\partial_\mu A_\mu = 0} \quad \square A^\nu + m^r A^\nu = J^\nu$$

نوع اول $\rightarrow \partial_\mu J^\mu = 0 \quad ; \quad J^\mu = \sum_n \frac{\partial \mathcal{L}}{\partial(\partial_\mu \phi_n)} \frac{\delta \phi_n}{\delta \alpha}$

U(1) : $\phi \rightarrow e^{i\alpha} \phi$

الف) ϕ : $\bar{\psi} \psi \quad \mathcal{L} = \frac{1}{2} \partial_\mu \phi \partial^\mu \phi - \frac{1}{2} m^2 \phi^2$
 $e^{i\alpha} = \pm 1 \rightarrow \bar{\psi} \psi$

$J^\mu = \frac{\partial \mathcal{L}}{\partial(\partial_\mu \phi)} \frac{\delta \phi}{\delta \alpha} = (\partial^\mu \phi) i\phi \rightarrow \partial_\mu J^\mu \neq 0$

ب) ϕ, ϕ^* $\mathcal{L} = \partial_\mu \phi^* \partial^\mu \phi - m^2 \phi^* \phi$

$\frac{\delta \phi}{\delta \alpha} = i\phi \quad \frac{\delta \phi^*}{\delta \alpha} = -i\phi^*$

$J^\mu = \frac{\partial \mathcal{L}}{\partial(\partial_\mu \phi)} \frac{\delta \phi}{\delta \alpha} + \frac{\partial \mathcal{L}}{\partial(\partial_\mu \phi^*)} \frac{\delta \phi^*}{\delta \alpha} = i\phi \partial^\mu \phi^* - i\phi^* \partial^\mu \phi$

$J^\mu = i(\phi \partial^\mu \phi^* - \phi^* \partial^\mu \phi)$

$\partial_\mu J^\mu = i \partial_\mu (\phi \partial^\mu \phi^*) - i \partial_\mu (\phi^* \partial^\mu \phi)$
 $= i \cancel{\partial_\mu \phi} \partial^\mu \phi^* + i \phi \square \phi^* - i \cancel{\partial_\mu \phi^*} \partial^\mu \phi - i \phi^* \square \phi$
 $= i(\phi \square \phi^* - \phi^* \square \phi)$

النتيجة : $\square \phi = -m^2 \phi \quad \partial_\mu J^\mu = i(-m^2 \phi \phi^* + m^2 \phi^* \phi) = 0$
 $\square \phi^* = -m^2 \phi^* \quad \partial_\mu J^\mu = 0 \quad \checkmark$

$$\begin{cases} E = -\nabla\phi - \frac{\partial A}{\partial t} \\ B = \nabla \times A \end{cases} \quad \begin{cases} \nabla \cdot E = \rho \\ \nabla \times B = J + \frac{\partial E}{\partial t} \end{cases}$$

فرد

$$\begin{aligned} \nabla \cdot E = \rho &\longrightarrow \nabla \cdot E = \nabla \cdot \left(-\nabla\phi - \frac{\partial A}{\partial t} \right) = -\nabla^2\phi - \frac{\partial}{\partial t}(\nabla \cdot A) = \frac{\partial^2\phi}{\partial t^2} - \nabla^2\phi \\ &= \square\phi \longrightarrow \square\phi = \rho \end{aligned}$$

$$\begin{aligned} \nabla \times B - \frac{\partial E}{\partial t} &= \nabla \times (\nabla \times A) - \frac{\partial}{\partial t} \left(-\nabla\phi - \frac{\partial A}{\partial t} \right) = \nabla(\nabla \cdot A) - \nabla^2 A + \nabla \left(\frac{\partial\phi}{\partial t} \right) + \frac{\partial^2 A}{\partial t^2} \\ &= \frac{\partial^2 A}{\partial t^2} - \nabla^2 A = \square A \longrightarrow \square A = J \end{aligned}$$

$$\begin{cases} \square\phi = \rho \\ \square A = J \end{cases} \longrightarrow \square A^\mu = J^\mu \longrightarrow \partial_\alpha \partial^\alpha A^\mu = J^\mu$$

$$\nabla F_{\mu\nu} = \partial_\mu A_\nu - \partial_\nu A_\mu$$

$$\partial_\nu F^{\nu\mu} = \partial_\nu (\partial^\nu A^\mu - \partial^\mu A^\nu) = \square A^\mu - \partial^\mu (\partial_\nu A^\nu) = \square A^\mu$$

$$\square A^\mu = J^\mu \longrightarrow \partial_\alpha F^{\alpha\mu} = J^\mu$$

$$\nabla L_{em} = -\frac{1}{4} F^{\mu\nu} F_{\mu\nu} + A_\mu J^\mu$$

نوعه :

$$\frac{\partial L_{em}}{\partial A_\nu} - \partial_\mu \left(\frac{\partial L_{em}}{\partial (\partial_\mu A_\nu)} \right) = 0 \xrightarrow{m=0} \square A^\nu = J^\nu$$

$$\partial_\mu F^{\mu\nu} = J^\nu$$

$$F^{\mu\nu} F_{\mu\nu} : \quad F_{\mu\nu} = \begin{pmatrix} 0 & E_x & E_y & E_z \\ -E_x & 0 & -B_z & B_y \\ -E_y & B_z & 0 & -B_x \\ -E_z & -B_y & B_x & 0 \end{pmatrix} \quad F^{\mu\nu} = \begin{pmatrix} 0 & -E_x & -E_y & -E_z \\ E_x & 0 & -B_z & B_y \\ E_y & B_z & 0 & -B_x \\ E_z & -B_y & B_x & 0 \end{pmatrix}$$

$$= \gamma(-E_x^2 - E_y^2 - E_z^2 + B_x^2 + B_y^2 + B_z^2) = \gamma(\vec{B}^2 - \vec{E}^2)$$

$$F^{\mu\nu} F_{\mu\nu} = \gamma(\vec{B}^2 - \vec{E}^2)$$

$$J^{\mu\nu} \rightarrow \mathcal{L}_{em} = -\frac{1}{r} F^{\mu\nu} F_{\mu\nu}$$

$$\mathcal{H} = \frac{\partial \mathcal{L}}{\partial(\partial_0 A_\nu)} \partial_0 A_\nu - \mathcal{L}$$

$$\frac{\partial \mathcal{L}}{\partial(\partial_0 A_\nu)} = -F^{\mu\nu}$$

$$\mathcal{H} = -F^{0\nu} (\partial_0 A_\nu) - \mathcal{L} = -F^{0\nu} (\partial_0 A_\nu) + \frac{1}{r} \underbrace{F^{\mu\nu} F_{\mu\nu}}_{r(B^r - E^r)}$$

$$F^{0\nu} = (0, -E_1, -E_2, -E_3)$$

$$\partial_0 A_\nu = (\dot{\phi}, -\partial_0 A_i) \rightarrow F^{0\nu} (\partial_0 A_\nu) = \dot{\phi} + E_i \partial_0 A_i = E_i \dot{A}_i$$

$$\vec{E} = -\nabla\phi - \frac{\partial \vec{A}}{\partial t} \rightarrow E_i = -\partial_i \phi - \dot{A}_i \rightarrow \dot{A}_i = -\partial_i \phi - E_i$$

$$\rightarrow F^{0\nu} (\partial_0 A_\nu) = E_i (-\partial_i \phi - E_i) = -E^r - E_i \partial_i \phi$$

$$\begin{aligned} \mathcal{H} &= -F^{0\nu} (\partial_0 A_\nu) + \frac{1}{r} (B^r - E^r) = E^r + E_i \partial_i \phi + \frac{1}{r} (B^r - E^r) \\ &= \frac{1}{r} (B^r + E^r) + E_i \partial_i \phi \end{aligned}$$

$$\boxed{\mathcal{H}_{em} = \frac{1}{r} (B^r + E^r) + E_i \partial_i \phi}$$